A= pyEy= SN AR
A Aol Ol JFxl M2
ol A2 228 XA (EEREED
NS 2 ZH . S(3) - HIRA - 01l abot i HIm =2
At 2te| 59,977,006 56,802,124 3,174,882
= 31,120,934
= 12,326,630
A 135,757
& 16,393,685
AFRIO| Ol JEXI M2 58,720,874 55,3%4,059 3,326,815
= 30,395,281
s 12,326,630
A 135,757
& 15,863,206
AX2te| &85 N3 69,910 166,600 A9%6,690
= 40,000
= 29,910
OlhXss MXIEHE L 0| 13,200 13,200
201 Ler23Ad| 9,200 9,200
01 At=22teld| 9,200 9,200
OitX &2 2R3 29 9,200
202 0441 4,000 4,000
01 =LHABI 4,000 4,000
O&FR[Z2] Y AXI=ST7AI =& 4,000
MAEZHR FH 5,760 6,400 2640
202 0441 5,760 6,400 2640
01 =WO4HI 5,760 6,400 2640
OMREEHR =& 5,760
MRS 9™ BE C124H| X (=1) 1,950 1,950
201 L2 AY| 1,200 1,200
01 At=222teld| 1,200 1,200
OMLHEH| Xt 1,200
202 0441 750 750
01 =LH4 b 750 750
O EES0HUI 750
SAMMMFOIEY 2ATol M2ALE(=1) 49,000 147,000 98,000
= 40,000
< 9,000
403 RXISHHSAHE01 A 49,000 147,000 98,000
= 40,000
< 9,000
01 AXIHAM 22X 49,000 147,000 A98,000
OATHIF OIS Y S Olol M2ZA 49,000
= 40,000
< 9,000
A THOHOI S XIR 52,011,750 49,891,280 2,120,470
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RN SA AR
mm: Aol OlH JHEl RID

s &%IHéHOﬁIIE‘J A& (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

= 25,008,327
s 12,326,630
EN 135,757
& 14,541,036

MEBAIE 24 & SX22(22)(HE) 9,%4,122 11,065,211 21,101,089
= 6,974,885
= 2,989,237

201 23| 10,000 10,000 0
= 7,000
== 3,000

01 At22telt| 10,000 10,000 0
OAEAIE =4 & FXI2e 10,000
= 7,000
= 3,000

401 Al HIL SR CHY| 9,954,122 11,055,211 21,101,089
= 6,967,885
< 2,986,237

01 Al&Hl 9,733,575 10,773,505 21,039,930
OHFEHN 4,916,600
= 3,441,620
< 1,474,980
ottg sz 4,420,000
= 3,094,000
& 1,326,000
OAHEAIE CHEEXI 152,800
= 106,960
& 45,840
OdfierLME =4 244,175
= 170,922
== 73,253

02 Zelgl 189,000 250,000 61,000
OAEAIE =4 189,000
= 132,300
= 56,700

03 AIE 2204l 31,547 31,706 A159
OAIEAIEd =4 31,547
= 22,083
= 9,464

AZAIE =4 2 RI22(21) 21,421,400 23,688,650 A2,267,250
= 16,478,000
& 4,943,400

403 XXM S K=201H 21,421,400 23,688,650 A2,267,250
= 16,478,000
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DAREER TA
D AHEOl Ol IRl M2
DARRITAHOIE K

ECRE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

= 4,943,400

01 AXIHAA2EE 21,421,400 23,688,650 A2,267,250
OAFRIAFEE 1,695,330
= 1,304,100
o= 391,230
OArZE &X] 17,062,500
= 13,125,000
& 3,937,500
(@] E==ESYNIEU=FSIY 1,811,810
= 1,393,700
= 418,110
OAHL M X 546,000
= 420,000
= 126,000
oAagdze|(EL) 305,760
= 235,200
= 70,560

AFZHAIE BOF & FHA(20)(HY) 491,205 641,924 A150,719
= 343,843
== 147,362

401 AIEBIZL20H8| 491,205 641,924 A 150,719
= 343,843
= 147,362

01 AlEH| 491,205 641,924 A150,719
OHREHE EIgEEI} 101,972
= 71,380
& 30,592
odtEsAe| B8 EIt 36,143
= 25,300
= 10,843
OAMYY EtE S EIt 294,150
= 205,905
= 88,245
OU=sHE ALY EtZ-&E0t 9,000
= 6,300
< 2,700
OAHEAIE 22EH 49,940
= 34,958
< 14,982

AMEAIE "o & HH(=21) 559,584 562,197 A2,613
= 430,449
& 129,135

308 AtXIEMS0IA 559,584 562,197 A2,613
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DAREER TA
D AHEOl Ol IRl M2
DARRITAHOIE K

ECRE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

= 430,449
& 129,135

01 IXESHNBLEEXS 559,584 562,197 A2,613
OATZE 22EH 234,234
= 180, 180
& 54,054
OAMZEY 32EZ 143,350
= 110,269
== 33,081
OArZ & orM RICH 182,000
= 140,000
& 42,000

APALEH 2d 22X A ZAN=1) 455,000 444,535 10,465
= 350,000
= 105,000

308 AXISHMSOI& 455,000 444,535 10,465
= 350,000
== 105,000

01 XN BAEES 455,000 444 535 10,465
OXLEALE 2 LHAKXIE A B A 455,000
= 350,000
& 105,000

A THOHZ Kt2l SEO(AFAERS O ) (2 12) 625,168 711,828 A86,660
= 431,150
& 194,018

308 AEXIHMSOI& 625, 168 711,828 A86,660
= 431,150
= 194,018

01 AXEHBLEES 625,168 711,828 A\86,660
OLFAEN S Z Ol & 625,168
= 431,150
< 194,018

SAE(>EY)(=2)(HE) 22,857 27,143 A4,286
s 16,000
& 6,857

201 B2 AH| 22,857 27,143 A4,286
s 16,000
& 6,857

01 ArR22teltl 22,857 27,143 A4,286
OYTEIZHEI} 2SS 22,857
s 16,000
= 6,857

AT AIE (X)) (=1) 14,948,630 9,713,289 5,235,341
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DAREER TA
D AHEOl Ol IRl M2
DARRITAHOIE K

LR
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
s 12,310,630
& 2,638,000
403 XXM S K=01& 14,948,630 9,713,289 5,235,341
s 12,310,630
& 2,638,000
01 XtXIEHHI A= 2 = 14,948,630 9,713,289 5,235,341
(ORI 10,406,230
s 8,569,830
< 1,836,400
OttE2astd S 4,542,400
s 3,740,800
& 801,600
UTAIE(MEAL) 3,384,427 2,942,903 441,524
308 AtXIEtMSO0IN 715,919 0 715,919
01 AXEHBLEES 715,919 0 715,919
AT pie|R(ME) 715,919
403 XX SHHMSK=01M 2,668,508 2,942,903 A274,3%5
01 AXIHAMA2E X 2,668,508 2,942,903 A274,39%5
ORZIHE(HEH 1,675,010
OUTE4(XE) 3,004
OAMBEAH(XE) 50,4%
AAEHUIS20F At F=E 3,600 3,600 0
202 04t 3,600 3,600
01 =WO4HI 3,600 3,600
OAAEITIEE R =& 3,600
A oM 235} 135,757 0 135,757
EN 135,757
403 RtXIHMS K201 A 135,757 0 135,757
EN 135,757
01 AIXHAH =22 L 135,757 0 135,757
2 =T 22,860
EN 22,860
0L HMAIE=Z &X 112,897
EN 112,897
AEEE BA 2| 6,639,214 5,336,179 1,303,035
= 5,346,954
== 1,292,260
ARG SSH(=20)(2E) 10,000 10,000 0
= 5,380
& 4,620
201 LEH2 A 5,000 5,000 0
= 2,880
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uJ

-

HwE
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19,136
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19,136

dHEC
Ol &42H

5,000

5,000

5,000

3,198,766

3,198,766

3,198,766

455,312

455,312

455,312

58,500

58,500

58,500

Ofl &8

H

2,120
5,000
5,000
2,880

i

H

5,000
2,500
2,500
5,000
5,000
2,500

2,500

4,465,662

i

H

i

H

i

3,822,329

H

643,333

4,465,662

i

3,822,329

H

643,333

4,465,662
4,465,662

3,822,329

H

643,333

474,448

i

364,960

H

109,488

474,448

i

364,960

H

109,488

474,448

474,448

i

364,960

H

109,488

58,500

45,000

i

H

13,500
58,500

45,000

i

H

13,500
58,500
58,500

45,000

i

13,500

R

- SR1(3) - HIRAHY

29438

A
=

01 AFR2t2ltl

202 Odd|

01 FLHA LI

ol
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=

d

=
0l
=

t

308 Xt

ol
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d

=
0
=

t

308 Xt

ol
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dl
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0J
K

F

308 Xt
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A= MEEg= 2A - sE2e|
HE: Aol Olef DX M2
Rl AtEEd 2 2 (EEREED
A2 .24 - ZB . G(SD) - NRAY - BES Ofl ko i Bzt
AHETHO L K| D (MBS L) (&) (=1 1,332,488 1,248,195 84,293
)
= 1,024,990
= 307,498
308 ARIHHMSOIE 1,332,488 1,248,195 84,293
= 1,024,990
< 307,498
01 HXHHBExS 1,332,488 1,248,195 84,293
ONHEHSHZ LM E 1,332,488
= 1,024,990
< 307,498
SN L K| D (M SHZE M) (K2) (=21 36,036 36,036 0
)
= 27,720
== 8,316
403 MRS SA=01H 36,036 36,036 0
= 27,720
< 8,316
01 RXISH =2 E 36,036 36,036 0
ONHEHSHZE LM 36,036
= 27,720
= 8,316
HEU2L 2SS (=10)(HE) 26,680 26,680 0
= 18,575
== 8,105
201 Zet2gH| 16,680 21,680 5,000
= 11,575
== 5,105
01 AtR2t2lbl 16,680 21,680 5,000
Ol BESES 16,680
= 11,575
< 5,105
202 04| 10,000 5,000 5,000
= 7,000
< 3,000
01 2LHOII 10,000 5,000 5,000
OHEU2 ES8S 10,000
= 7,000
< 3,000
g5+ XE - 2l 183,600 153,600 30,000
201 Zet=2gl| 3,600 3,600 0
01 At 2telbl 3,600 3,600 0
OE3% yofs 29 3,600
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A= MEEg= = |
M Aol Olef IOt M
Rl AtEEd 2 2 (EEREED
A2 2 - ZH - SRS - MIRAY ofl &t i HIDEZ
403 NXIEHS K201 180,000 150,000 30,000
01 AXIEH A= E X 180,000 150,000 30,000
o=z FH| 180,000
SHEES RS 2| 2,400 12,790 210,390
202 Ot 2,400 2,790 A390
01 204 2,400 2,790 A390
ougEES Y| & MEESEE 2,400
254 otEze|(20) 49,400 49,400 0
= 38,000
= 11,400
308 NHRIEHMISOIE 49,400 49,400 0
= 38,000
= 11,400
01 XN B EEES 49,400 49,400 0
OEs# ot 2t 49,400
= 38,000
S 11,400
I =gE R 1,180,782 1,364,048 183,266
= 702,800
= 477,982
SEoALEE 2 1,180,782 1,364,048 183,266
= 702,800
S 477,982
Jlelgat A= ALY 146,782 1,342,048 A1,195,266
101 el2b] 24,752 19,448 5,304
M IIHZZ2NSES 24,752 19,448 5,304
OYHEIIEAIE 2elele 2Y 24,752
201 &Et2E | 19,000 28,200 29,200
01 AtR2telH] 16,000 28,200 12,200
QUEISAFIH 248 & 22ASE + 16,000
2 S22l 3,000 0 3,000
O2RI|EE 2g 3,000
202 O 7,400 7,400
01 20| 7,400 7,400
OMEH=SAFEH 3o L SHEQ S 7,400
206 M= HI 10,000 10,000
01 MHZH 10,000 10,000
OZ=IIEAIE 22l Xt 10,000
401 Al HIZL SO0 70,630 1,277,000 1,206,370
01 Al&H] 70,000 1,272,000 A1,202,000
OMHHLAIE &X] - E= 70,000
03 Al 20HHI 630 5,000 N\4,370
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- SR1(3) - HIRAHY

29438
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=
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